SONIC

wquipment

———
STORACE
FEFTERT

Ref#  Description Part# QTY

1 Hexagon bolt with flange 321177 18 pcs
screw (M6X25)

2 26"Cabinet frame 473280 2 pcs

3 Pipe ( 30X30mm ) 47284 2 pcs

4 Truss head screw 24 pcs
(M6X12, stainless)

5 26"Hanger board 47376 2 pcs

6 34"Hanger board 47380 1pc

7 Pipe ( 60X30mm ) 47283 2 pcs

8 HEX socket head cap 18 pcs
screw ( M8X20)

9 34"Cabinet frame 47296 1pc

10 26"Skirting board 47289 2 pcs

11 86"Wooden work plate 47306 1pc

12 34"Skirting board 47303 1pc

13 26"&34"closet side 47389 1pc

board



SONIC

wquipment

1.INSTALL PIPES
Simply position the pipes over the holes on
the cabinets and attach with the bolts
provided. Tighten HEX socket head cap
screws( M8X20) securely.

3.ADJUST LEVELER

Adjust the levelers and
make the whole unit to
stable state.

ASSEMBLY INSTRUCTIONS

4.PRE-DRILL HOLES OF WOODEN
WORK PLATE

Pre-drill twelve small holes under
the wooden work plate for easily
installing. Repeat the steps for the
back of wooden work plate(only six
holes).

2.INSTALL HANGER BOARD
Simply position the hanger board over the
holes and attach with the bolts provided.
Tighten truss head screws(M6X12,stainless)
securely.




(o] (621
c':_af\qf—:_r-u_ O W == =T —
7&8=z533Z0 = 323835833 =
) » c 7} o ® g © o 7]
S P00 =2 — c ) =3 . 0
o & X 0 ® > S = s I =
§a858¢S 2 55252558 5
R R <saz@ el

n 9 < @
ooz D2 =Q 5 -
S8y L,0® W nggomm
c,5880 R s8829%¢6= =
,_,U)m-xc'b“_ saiyxgo S
Tgmgzgm 24 =29 o O
mmmm 2 g §23-522 §
» == Q@ = = S @
Q = =z ST = = @ s O
&<z 59 3 .,325=3 - m
= 0 S @ 408§ =02
Sl = 2 26 2338 Z
Q pQ a > g 5 ~
=) ) £3Ssae2 =
D = 3 o D0 —~+0=
=2 [L=1e] (@)
22 5 > S = 2
3 =3

Py o3 py)

W)} = ~

n T

-
>
_|
m

SN
/ \\\\\\\\/

1ybi1] “a1e|d YoM uspoom
10 3pIS a1 01Ul pue ‘spieoq Jabney

40 %9eq 8y} ybnoiyr (SZX9N)SMaI0s

abuey 1M 1j0q uobexaH ay) asu

‘Aj2Indas ua

J1U05



40

872

90

# L}

2000

L

o o

@ o

@ o

998

40

20NIC

ONIE

ZONICE

ZONIC

ZONIC

962

530

2000

674

674

845

2193




	4731504+4731804 Model (1)
	4731504+4731804 Model (2)
	4731504+4731804 Model (3)

